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[[=tiva K4 Z§Fa—X| ouT IN |GROSS|HDCP| NET [Rz4%m
1 HME BEFX | dt#FE 37 40 77 8 69 O
2 sl =1 [U5orA—49] 37 45 82 12 70
3 hit == [x&/JUvs| 46 39 85 14 71
4 A FxE ([FrOvT| 41 41 82 11 71
5 BEE EIE e 39 45 84 13 71
6 xel EE 7TA/ 38 44 82 11 71
7 hR Eif | FoavT| 42 41 83 11 72
8 BAR sh= B 46 38 84 11 73
9 A+ R | KE/ES | 45 41 86 12 74
10 EH XXk | HBEHME| 43 44 87 13 74
11 it EE | 254 Ccc| 39 45 84 10 74
12 =g W= [F5orA—9] 41 47 88 13 75
13 F B3 TA/ 39 49 88 13 75
14 M E AHE 49 42 91 15 76
15 BT ZFE&h | GEHR | 46 43 89 13 76

952 |BOSR

JIE 452 K4 Z8a—X| ouT IN |GROSS|HDCP| NET [Rz%®m
1 EE R | H#HKE| 46 44 90 22 68
2 5l BE— [4o0vJ| 46 48 94 25 69
3 & REAEBR | JtfPE 41 46 87 17 70
4 WA F TA/ 45 47 92 22 70
5 SHEZ=R |#rOvyTJ| 51 50 101 31 70
6 Bi FE | BEHRE | 43 48 91 20 71
7 FHE —8h | FERKIE | 46 49 95 23 72
8 EE IF e 47 52 99 24 75
9 ke EZ | BEBR | 47 52 99 23 76
10 Wi Ef [D2BHCcc| 44 48 92 16 76
11 MR FE (#2097 | 45 48 93 16 77
12 =% ZEE | £H#3Y 48 51 99 22 77
13 B FiE 7A/ 51 50 101 24 77
14 ZFE i RLZEE | 47 46 93 16 77
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